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quantity of alcoholdrink by i1kkajoho

R (Original sentence)
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HZ2HANE (mathematical contents)
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2[2{2(2x — 34) — 34} — 34] — 34
=2{2(2%x —2x34—34) — 34} — 34
=2(23x —4x34—-2x34—-34)—34
=2%x —8x34—4x34—2x34
=2*x— (8+4+2+1)x34
=16y —15 X 34

P

| say that the former alcoholic drink is x.

| draw 34 from alcoholic drink added double.

| do this work four time to use for cherry blossom
viewing picnic,cool down,playing by the ship and moon
viewing.
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2[2{2(2x — 34) — 34} — 34] — 34
=2{2(2%x —2x 34 —34) — 34} — 34
=2(23x —4x34—2x%x34—34) — 34
=2%x —8x34—-—4x%x34—2x34
=2*x—(8+4+2+1)x34
=16y —15 X 34

A person in charge:takeuchi and hiramoto

F EE (settlement)

IRAAEEER (Modern translation)
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People don’t know how much
barrel contain square wooden that
bottle contain square wooden
now. People add the alcohol34°7¢
and alcohol draw 34°Y° to drink
under the cherry trees, and draw
34°Y9 to cool oneself, the rest
draw 34°Y9 to cruise a late on a
boot and draw double 510°Y¢
again to admire the moon, so be
used up. We need to know a
number of former alcohol from a
square wooden cup31.875°7°.
However, think of 15 times

as 1°Y°2. Adding 1 up 2 up 4 up 8
up is 15 times and understood 16.
This is 5 added 1. It is Ikkateiho.

A person in charge: hiramoto and nonaka
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When units are different | can demand it in
garden, unifying it , and putting a letter to the
original quantity .

Also, then ikkajoho finds the root of the sum of
the modern geometric progression .
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